BT TRIA O - HEHHEE X T :FEJZT F028KIBH
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 39,252 86,461 41,255 45206
RIRET1T 6 15 9 6
RIRET2T 28 57 26 31
AIEET3T 180 580 278 302
RIRET4T 415 992 491 501
B 629 1,644 804 840
REH 2,659 6,129 2,860 3,269
L&A 4,221 9,371 4,396 4,975
5E 2,584 5,964 2,897 3,067
B AN 1,260 2,841 1,327 1,514
BERT 1,339 1,990 946 1,044
BER2T 787 1,439 706 733
BHERST 373 822 389 433
g 2,499 4,251 2,041 2,210
BARE 274 666 332 334
= 2,204 5116 2,425 2,691
hERE 631 1,443 658 785
e 2,491 5,250 2,545 2,705
25 L ET 2,299 5,083 2,425 2,658
B &AL BT 81 155 60 95
HEFILET1T 561 1,198 563 635
HEFILET2T 624 1,356 639 717
HEZFILAT3T 638 1,442 713 729
g 1,904 4,151 1,975 2,176
B & it B Fr ET 680 1,596 778 818
BHEREBET1T 601 1,240 600 640
BHERERET2T 779 1,750 846 904
BHERERETST 769 1,633 742 891
HERERET4T 489 958 458 500
HEHFMHETST 832 1,731 811 920
HEHFHET6T 895 1,974 952 1,022
HEFRET7T 879 1,869 915 954
HERERETST 70 219 105 114
£t| 5314 11,374 5,429 5,945
HEF R FET 1,900 4,031 1,972 2,059
S|EFET1T 581 1,538 71 767
S|EFET2T 774 1,781 846 935
S|EFET3 T 735 1,425 650 775
g 2,090 4,744 2,267 2,477
ERE1T 579 1,366 655 711
EIRET2T 396 1,056 529 527
EREIST 505 1,331 655 676
EIRETAT 687 1,495 667 828
EIZEIST 501 1,025 518 507
g 2,668 6,273 3,024 3,249
MEH 2,832 6,316 3,002 3,314
J\THET1T 34 36 14 22
J\THET2T 26 64 32 32
J\THEI3T 53 118 52 66
B 113 218 98 120
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